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1 Which expression is equivalent to (x + 3)* - 9x(x + 3)7
! (r)1(3)
x>+ 27
’ 3 () (3)" = 2
x3 - 27 3 (X)(z) z 17*‘
L OPG) = 27

3 _9x? - 27x + 27

onm®

X3+27

}_0Ox? + 27x + 27

2 Suppose p(x) = x° - 2x% + 13x + k. The remainder of.'the .c\l':'iy_.ision of p(x) by
(x + 1) is “8. What is the remainder of the divisjoh of“p(x) by (x - 1)?

A 8 _-:_’-UI :;? !33 -,}<6 __/1 - 2 23 5’
24 { ,.:[ l'f@

®
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B 1.262 i ¥ colc
C w2354

T e 1] hr)’ec,4—(-
— n
o) e t i




4 Samantha invested $10,000 in each of two different financial plans in 2013. The
predicted value of each plan is modeled below.

(=4, (e) "
Plan M: a rate of 7.5%, compounded continuously. /4 €)= (7 €

o75 ¢
Plan N: The value is determined by the function ,4(-(:) =000 - & 4
y = 5x° - 50x? + 4x + 10,000, where x is the number

of years after 2013.

v
Plan N has a greater predicted value than Plan M during which years? f ”
A from 2014 to 2041
B from 2028 to 2055 . N, ":';_:: /
@ from 2042 to 2073 £ 7 N
D  Plan N never has a greater value than"qF.’fa_n_ M.
5 Which is an equation of a parabola that h-é"s; a directrix of y = °5 and a focus at
Ay =3ix+27+2 4
B y %(x + 2)2+ 3
@ y = lxs2r T3
D y=3(x-27°-2




[T — RELEASED FORM

6 In the figure below, PR and SR are tangent to circle O.

If OT = 11 cm and PR = 60 cm, what is the length of OR?

@ 61 cm

B 59 cm
C 50 cm
D 48 cm




7 In the figure below, the larger circle has a radius of 6 cm, and the smaller circle
has a radius of 2 cm.

309

2 cm

6 cm




&

D

Which choice shows the solutions to the equation 8x?* + 3x = 777?

-3 i—lfg"zglé gxl + 3)( + 7 -0
3+ /215 X _3.# [9-4(3)(@)
16 = TNV
16 7
3 + 233
16

3 + 4233
16

What is the distance between the points of intersection of the system?
A \/g . vé:"f.:\-; , /f';{ = 2 X
, \/_2_.6 . : 3{‘ x o 7_ 3 = 2
7. -
C J48 3 2 X - 2
D -

\[810 S » R _
(=6



OMMON CORE MATH IIT — RELEASED FORM

10  Fred drives an average of 15,000 miles per year, and his car gets 20 miles per
gallon of gasoline.

. The average cost of gasoline is $3.25 per gallon.
. He buys a new car.
. In his new car, Fred continues to average 15,000 miles per year, and

the average cost of gasoline remains the same.

Approximately how many more miles per gallon does the new car get if Fred has

a savings of $650 per year on gasoline? )
#24372.50 (oid

A 5.8 mpg __/__9_’_9_‘3.9-_.,. 750 gel - 372.(: )
20 & § .
7.3 mpg (ot Mg (Ve
C 8.8 mpg Jldasp 961']'2{*
D 10.3 mpg mpj

mpy=27-27

11 A student wants to determine the most liked professor at her college. Which type
of study would be the most practical to obtain this information?
A a simulation | :
B an experiment .«

() asumey

D an observation



._‘__;-iMATH I1I — RELEASED FORM

12 A principal wants to survey 150 students to determine which electives to offer
during the next school year. There are 1,800 students in the school. Which
procedure could the principal use to select a sample using a systematic random
sample?

@ Obtain a list of all students. Start with the eighth student, and select every
twelfth student until 150 students have been selected.

B Select the first 150 students who enter the school.

C Choose the fifth student to come into the cafeteria, and then select every
third student who comes into the cafeteria unt:l 150 students have been
selected. & e,

D Place students’ names on slips of paper and"sgllec:'\t'-i_'j'(}" slips.

13 What value of /1 is needed to complete the square for the equation

x* +10x - 8 = (x - h)? - 33?7
A 25

™ - 7 +/0x+ 25 =5 +25
C 5 ' '

(x+¢.5’) = 33
(-7 =53
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@

15

A shipping company is designing boxes to meet specific requirements.

. Each box must be a completely closed rectangular prism with no
overlapping material.

o The boxes must hold 24 cans in two layers of 12 cans each.

° The cans are 3 inches in diameter and 5 inches in height.

What is the smallest amount of cardboard needed to meet the specifications?

A
B

D

Which expression is equivalent to _cos(@) .. tan(o)?

A

B

C

D

1,080 in.?

840 in.?
636 in.2

540 in.?

gt
S ::/,201“/20'”06”0
g 90490 - (2647

1 - sin(®)
sec(6) P
sin(#) ” N : Coj . 5‘”\ N
cos(¢ @ ML -
., Mr S 2556 Cos®
csc(6) -fjf.,fi;;{_“l?' T

Cos b6 - 5200 -52¢) -

Cos6 (1-5=©)
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iATH II I _. — REL E:_A_-'s__ ED FORM

William put the tip of his pencil on the outer edge of a graph of the unit circle at

the point (0, "1). He moved his pencil tip through an angle of % radians in the
counterclockwise direction along the edge of the circle. At what angle of the unit
circle did William’s pencil tip stop?

‘1% :

A

wu
A

W

A town has 685 households. The number 6f:'|:"'>éople per household is normally
distributed with a mean, y, of 3.67 and a standard deviation, o, of 0.34.

Approximately how many households have between 2.99 and 4.01 people?

A 493 households ;

B 520 households .:i"i'""‘

. @ 558 households

D 575 households




IATH TIX — RELEASED Form

18 The graph of the function f(x) = x* will be shifted down 2 units and to the right
3 units. Which is the function that corresponds to the resulting graph?

A gx) = (x +3)°%+2
B gx) = (x +3)° -2

C gx) = (x -3 +2

(D a0-x-3 -2

19  Which is the inverse of f{x) = 1.5° + 4?

A Fix) = X = 4 / \

B f—l(x) _ |09(X! -4

1.5 | ‘ ;

. @ Fi(x) = I_C:QL)EI_—T;) «2/ _..q = /5/ ( )
og(1. ) |

D Fi(x) = 4 - log(x) /Gj (X"/) N }/ @ /-5




N

What additional information is sufficient to show that N_MN can be transformed
and mapped onto AOPQ?

0Q =6 5 /ﬁL S

MN = 9

O @ r

ZLMN

. @ ZNLM

1

ZQO0P

1




21  Which choice shows a pair of similar figures?

A B

2!
/’/‘:\%ﬁ K
/9 \\ =

- —
I

=
/ :

22  What is the apﬁr@}jfméte value of the sum:

2,500
) ?

8 8 o | 1
8—7+-@—..,+8 (7
a(l-r"

1-r '

where r # 1.) g ( | _(ﬂ?"“’) 3(,—0)
/ - /

A1 % :
_' . : /"H) 7

g
D 9

(Note: The sum of a series can be calculated using the formula S, =

z =
g
7




o MAT H III — RELEASED FORM

23  The volume of a rectangular prism is represented by the expression
(x* — 2x? - 20x - 24). If the length is (x - 6) and the height and width are equal,

what is the width of the prism?
(A x+2 6|1 -2 -0 -2y
B x-2 f % 2“___f§3
—_— L{ L{ &)

C X+ 4 l

X y2pdx + 9

(x+z)(ﬂfl)

24 A right triangle is shown below.

Which expression would result‘-fir_q _a-ri"irrgtfional number?

A x? +y &
P

( ; ) x+y+."zl;f..:' R J.Z/O

70t the hext pa




J 25  Which expression is equivalent to (4 — 3/)* + (6 + /)*?
:L ' < : <2
A 30 [6-24¢ +9;% + 36+12¢ 1
@) a2 Jo=24c- 9 <36 0
C 50 L{Z _ /D_L

D 62 - 12j

This is the end of the muiltiple-choice portion of the test. A




